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UNIVERSITY OF SWAZILAND

FINAL EXAMINATION PAPER

2" SEMESTER 2008/2009

PROGRAMME: BSc. AGRICULTURAL ECONOMICS &
AGRIBUSINESS MANAGEMENT

COURSE CODE: AEM 407

TITLE OF PAPER: AGRICULTURAL FINANCE

TIME ALLOWED: TWO (2) HOURS

INSTRUCTIONS: Candidates are required to answer QUESTION 1
and any other TWO of the THREE remaining
questions.

DO NOT OPEN THIS PAPER UNTIL PERMISSION HAS BEEN
GRANTED BY THE CHIEF INVIGILATOR.
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Question 1

Consider a producer who is improving pasture land and expanding a beef cow
herd by 200 cows. The budget indicates that E80,000 of net-cash income is
available each year for debt servicing, consumption, or other sizes. This is part of
the information needed to evaluate the financial feasibility of the investment.
Additional information includes loans size, interest rate , and loan length. Suppose
that the investor formulates estimates_for four of these variables:

Case A: The beef investor projects the application of E80,000.00 annually to
debt servicing. For an annual interest of 14% and a seven-year loan, what is the
maximum size loan that can be serviced? Calculate using the model and evaluate
your answers. (10 marks)

Case B: What is the annual debt (principal and interest) payment on a loan,
loan size in Case A per hectare with an interest rate of 14% and a seven-year
maturity. Evaluate your answer. (10 marks)

Case C: What is the maximum interest rate for a loan in Case A for seven-
years when E80,000.00 is available annually for debt servicing? Evaluate.
(10 marks)

Case D: What is the minimum length of loan needed for a loan in Case A
when E80,000.00 is available annually for debt servicing and the interest rate is
14%? Evaluate. (10 marks)

Question 2

a) Most investment decisions involve a large element of uncertainty about the
future, and they are taken in the expectation of returns that might not materialize
fully, or that might result in losses. The investment dilemma is how to maximize
returns from investments at the same time minimize the associated risk. To
achieve this, the first step that most investors take is to reduce risk by holding a
diversified portfolio. Explain what this means to you and its advantages to the
investor. (10 marks)
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b) Assume you have been asked by the management of the University of
Swaziland which is contemplating of removing agricultural finance as one of the
courses offered by its Department of Agricultural Economics and Management.
The management is of the opinion that such a course is irrelevant to the needs of
the country since the country’s agriculture is dominated by smallholder farmers
‘who make very minimal use of cash in their farming systems. Attempt to convince
the management that the study of agricultural finance is and is becoming
increasingly important. (10 marks)

c) Describe with an illustration the principle of increasing risk, using a
hypothetical example as we did in class, and discuss the impacts of leveraging on
owner equity with an equal percentage gain and loss on total capital used in the
business. (10 marks)

Question three

a) Underlying the portfolio approach to decision-making is the contention that
by combining a number of risky assets into a portfolio, some degree of income
stabilization cab be achieved without impairing the expected profit. How would
you explain this proposition to a lay man on the street? (10 marks)

b) It is well known that additional leverage would increase the rate of firm
growth, yet, internal capital rationing limit the use of financial leverage to
generally accepted levels. Comment on this. (10 marks)

c) Using an example, explain the effect of inflation on the cost of capital.
(10 marks)
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Question four

Many critics of markets (both commodity and financial) point to the market
bubbles and crises as evidence that markets do not work. For instance, both
financial and commodity market turmoil last year (2008) are pointed to as backing
for the statement that free markets are the source of the problem and not the
solution )

a) Discuss two counter arguments that can be offered,
(10 marks)

b) Explain the four squared firm chart providing all the objective
Classical functions in the four blocks and further telling the King of
the Kingdom of Swaziland what can go wrong within the chart

(20 marks)
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